6.2 Round Table.

Start with the same problem. Once everyone
agrees on the same answer, then switch
papers.

Everyone must have their own paper and must
turn it in with their name on it to receive credit.
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Basically, this saves you the time of writing down all of the variables and expgopenis-se-e rotrfrgarediout, you
can do these pretty quickly. However, this only works if you are dividing by

divisor of the form "x — m"
efficient of thngﬂdmg lerm‘ﬁ‘%%d you must be dividing by a linear term (highest power s 1). If you

are dividing by something other than this, you will have to use long dlv1mmmng
\\qivision, il there are any missing terms, you will have to insert a "zero" place holder for the missing term. Unlike

olynomial long division. if’ you forget to do this, the problem will work out as though everything is ok but you
will get the wrong answer. This is why you need to be paying attention when using synthetic division
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#7 -8:  Given one or two of the factors of the polynomial, use synthetic division to find the other factors. Show
your thinking! (Do not graph.)

7y f(x)=4x" +4x° -57x7 29x+108

Factors of this polynomial 3 4 - |2 -q 2;
are(xf#)and(i;‘a _.,¢ ’2 > -

-tjq 4 =57 -7 /08| ¥ 5 90
L-le 48 3¢ —108\ 4240x-9=0
1 <12 =9 2%+ Q /Jbx+ 2)ex— 3)
PC=12:3 Ty + 27

~ 5)
(:” ,g(}!_ ) X + XZX
List all factors: 3 (Z 3 List all factors:

List all gevos: X=~4,3,=2 '3
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